Plys 100 2024

Lechwe 29
Foo Qead 42— 24

Mon: HW 5}"“’“

Wawes are oo dishwbane 1n ¢ mecu’m)resu(ﬂrg from  co-ordinated mohon
of pabs A4 e wediun - The esult is a palion whese '8144/16 ed  mMohax
B dusenbed easilﬂ, We  wn chrEj St wamws on S}ﬂ'/tﬂijsh\flkjs and i1
woder .

Howeves, sowd  ond l\ghf coe epparentiy cesonbed 'b\j waves bul we canad™ ea )
chseve o wave -like paltons We wn reweal €e  wave nahwe of Hue by o
phenomenon  called  intefeen ik is only mufj cles o bed L{gq'rg the lenguag
oj; Weaves ,

Wefoow of  wares

Consido two Puli«ds on & 'err}/vo\

DEMo: PUET Won$ =% .
+ obseve reflocha ~+ over gy,
We se-

1) e, two WA S éut%h/lal&j Ppass ‘*e\rouj,« 2ach ofew‘_
2) dw‘f\g e penod wan e aves overlog +€Wj tombing..

/

e combirahan s called o sypopoinan ad #ds  phersrencn 1 calld

Wawe mk}rw,
/\"_\—_—\_,



“The rules bﬂ wiick #e waves interfoe  ae

D celemine e prog'lﬂ OF ecack wave oS '}"(A.omgh He Ko wee
not present

2) o+ ea horiwontel lowhon acd He displamorts of He wavesd
(F one s bewath % avis ¥ i+ hes a Mg&h‘u@ displacament)
s glves ¥ dASPiaCAM*“ of combinghon o Haat locahcn .

Shice |
S‘ZF;L;Z /}) ]mlafw(_g O¥ Pu!u

——



1 Interference of waves on a string

Two rectangular wave pulses move along a string with speeds 1cm/s. Initially the string
appears as illustrated.
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In the following questions the times refer to the time after this instant

a) Illustrate the appearance of the string after 2s has passed. Use the axes below to do
this.
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b) Illustrate the appearance of the string after 3s has passed. Use the axes on the attached
sheet to do this.
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2 Interference of waves on a string; one inverted

Two rectangular wave pulses move along a
appears as illustrated.

string with speeds 1cm/s. Initially the string

_Q
-~
o
=)
e [

cim

In the following questions the times refer to the time after this instant.

a) Illustrate the appearance of the string after 2s has passed. Use the axes below to do

this.
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b) Illustrate the appearance of the string after 3s has passed

sheet to do this.

. Use the axes on the attached
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hesfoore of waler  waves
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